SLNo. : ELLICS Roll No. £
No. of Questions — l | | | | | 1 a
ons — 23 S-09-Mathematics
No. of Printed Pages - 15

meafaes gdan, 2022 | -
SECONDARY EXAMINATION, 2022 |
o :
g
MATHEMATICS §_
T ;2w 45 R 3

qutis : 80

ghgnffaf & fr v fdw -
GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) ofenef] FEvUR U1 W 9 W e sfarda: ford |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) AW T § w0 i E

All the suestions are compulsory.
3) e WA o I § W Iwm-yfeent | @ ford |

Write the answer to each question in the given answer-book only.
4) Fom uwat d sraftE @oe §, 3 At & IW v T @ o)

For questions having more than one part, the answers to those parts
are to be written together in continuity.

$_09_Mathematics [ Turn Over

A T W SR & R vl wd

TEAR HERE TO OPEN THE *

gl | Ffen



2
5) wr & D a omeh wora A fed v ) qR / s/ R 23 R s
¥ U & @ '@ T

If there is any error / difference / contradiction in Hindi & English versions

of the question paper, the question of Hindi version should be treated valid.

6) wH I foren | 7@ wm = i srave )
Write down the serial number of the question before attempting it.
T) WA 17 | 23 7% § st freea §)

There are internal choices in Question Nos. 17 to 23.

8) MW—W%@%MWWM%#@WW&?&W—@W%
iem g8l W i o 32 Tt el A w1 W T W fora )

Write on both sides of the pages of your answer-book. If any rough work

is to be done, do it on last pages of the answer-book and cross with slant
lines and write ‘Rough Work’ on them.

9) W FWE 21 T @A WE TR W FAE0)

Draw the graph of Question No. 21 on graph paper.
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SECTION - A
(wgfe o siregeaes ww)

(Objective and Very Short Answer Type Questions)

1) ﬁnaqﬁgnﬁ%mwaﬁﬁmmwmgﬁmﬁ%ﬁm

Answer the following questions and write them in the answer book by selecting the correct option.

) W P(x)=(3-x)(x-4) Bumd - (1)
H) 2 . |) 4

|9 0 Y 3
The degree of the polynomial P(x)=(3-x)(x-4) is-

A) 2 B) 4
C)y O Dy 3

i) af} 6 ugl Al v wuwR S o werm e iAW wg wEw: 2 @en 10 2, A@ wueR O @

TRTEA ? - (1]
H) 72 ) 36
|w) 135 3) 24

If first and last term of an arithmetic progression having 6 terms are 2 and 10 respectively
then sum of arithmetic progression is -

A) 72 B) 36
C) 135 D) 24
S—09-Mathematics - 16005 [ Turn Over




i) fg P(5 -4)wxamazghi-

H) 5 € 0

|) 4 3 16

The distance of the point P (5, - 4) from x-axis is -
A) 5 B) O
C) 4 D) 16
iv) =i d swfta sem -
R 2 a)  2.232425....
q) 223 } 223
Which of the following is an irrational number?
A) 2 : B) 2.232{125....
Q) 223 - D) 223
V) k% e % for B W sl % qm w9 1w @ 2
x+y=1; (2k~1)x+y =2k+1
H) 2 . ) 1
q) 3 3 4
For which value of k, the following pair of linear equations has no solution?

3x+y=1(2k-)x+y=2k+1

A) 2 B) 1

C) 3 D) 4
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vi) Tt fmm wftaor ax? +bx+c=0 ¥ g avafrs 78 §, o -

(1]
A b?-4ac>0 a)  p’-4ac=0

q)  p2—4ac<0 A b -4ac20

Roots of any quadratic equation a x* +b x + ¢ = O are not real, if

A)  p2-4gc>0 B) #*—4dac=0

C)  b2—4ac<0 D) 4%-4ac>0

vii) fagell A(x+4,y+5) @ B(6-x,3~y) @ frem amt Yumevs ¥ wa fag & A § -
' (1]

F)  (xy) T 5.4

5 4
H) (x+5,y+4) ) ['—E'E]

The coordinates of the midpoint of line segment joining the points A (x+4, y+5) and

B(6-x,3-y) is-
Ay (xy) B) .4
5 4
C) (x+5 y+4) D) (5, EJ
[ Turn Over
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) 1
viii) a2 51HA=5 a, @ 2sin Acos A Eake i

1
3‘)4

q) 1

)

2

) 1
If sin A=5 , then value of 2sin AcosA is -

Ay L

) g

) 1.
21an 30°

i T 1 ]
%) an? 30°

#H)

i

|q) 0

The value of .
I-tan- 30°

1
A) .ﬁ

¢y 0

S—{19-Mathematics
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B)

D)

q)

)

B)

D)
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(1]

x) U UTR ¥ U TH S A g1 AT WO Wi w0 ) i £ -

tea | 2

)

1N | -

3H)

| 0 7 1

A die is thrown once. The probability of getting a prime number is -

n 3 B 3
G o D) 1
xi) EF2,0,7,3,4,8 | TaEwD - 1]
) 3 T 4
|) 7 3 2
Median of data 2,0, 7, 3,4, 8, 1 is -
A) 3 | B) 4
C 7 D) 2
xii) AR} Frefefen siwgl & arawast @ 9 60 2, @ x w1 am 2 - [1]
Iarf ’ 0-10 I 10-20 | 20-30 | 30-40 | 40-50 | 50-60
] A ] 5 I X 20 | 15 7 5
A€ 7 a) 8
[ 15 3 20

If the sum of frequency of following data is 60, then the value of x is -

[CJass o-ml 10-20 | 20-30 | 30-40 [ 40-50 | 50-60
{Frequency] 5 f x |20 s | 7| s
A) 7 B) 8
C) 15 D) 20
6005 [ Turn Over
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2)  Fraferir sl A fes wrt @ o W g Twgve § )

Fill in the blanks in the following questions and wnte them in the answerbook.

) Ffedem waen ad 8, fes Al F ol w R

s[5

In the following Arithmetic Progression, write the missing terms in thc boxes

1

9—
5, 2
q_a_ %
i) mmg‘ﬂ a,x+bly+cl=0 alr azx+bzy+c2=0 # of? b b c i'm
et & [
c
In pair of linear equations ajx +&y +¢; =0 andazx-r-bzy-i-cz=0.if§l-|--—*%§-=:'-.lh¢ﬂ
lines represented are
i) 7.5 St vk vareg W 2:1 § R = @A wm 6 e af gefh (1)
A 7.5 cm long line segment is divided in the ratio 2:1, then the length of large portion will be
cm.
iv) gl G, -2)an@, SRR TERRETEs 00} [1]

The length of a line segment joining points (3, - 2) and (4, 5) 1s

V) cosdgo-sin42° WA ____ R (1]
The value of cos48°-sin42° jg

vi) Prefimsiefimages W (1]
2,6,4,50,2,1,3,2,3
Mode of following datais .
2,6,4,5,0,2,1,3,2,3
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Very short answer type questions.

D

womat 72 3R 120 = Ty wwER (LCM) 7 i) | (1]

Find the least common multiple (LCM) of numbers 72 and 120,
wm@mwmwmmmmm=_sm2m (1]

Find a quadratic polynomial, the sum and product of whose zeroes are - 3 and 2 respectively.

WER P(x)=x?~2x-8 & ymaw W S (1

Find the zeroes of the polynomial P(x)= x%~2x-8.

5 afRver 3l 7 93 @ e e 2 50, wrafds 7 AR 3l 5 ¥ W T e T 46 ¥ v wwEn
! W whei % g gr el S [1]

5 pencils and 7 pens together cost ¥ 50, whereas 7 pencils and 5 pens together cost ¥ 46.
Express this problem by the pair of linear equations. https://www rajasthanboard.com

(x=2)-x=3x(x-2) * Ram wheww & wu ¥ i m
Write (x - 2)—x =3x(x-2) in the form of quadratic equation.

5 At T W o e it w1 3@ anipmiee fif (1]
Draw a line segment of length 5 cm and bisect it.

ferama weftestor 3x% -8x—16=0 % @l 9 wH 7w Ffy (1]

Find the nature of roots of quadratic equation 3x2 ~8x~16=0.

aR frg Q (0, 1), Rg3f P (5, - 4) 3R R (x, 6) W1 weafirg R, 7w x w1 7w 7w ARy [1]

If point Q (0, 1) is midpoint of the points P (5, —4) and R (x, 6), then find the value of x.

S-09-Mathematics [ Turn Over
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ix)  2tan® 45°+cos” 30°-sin® 60° W WR 7w g "

. 2 - .2
Find the value of 2tan” 45° +cos” 30°-sin~ 60°

x) TEdR# 3 e ot 5 et R § W 9N 7 A uw g agenw P T 2 Ted e
mivea @ f ag e o anft? 1]

A bag contains 3 red and 5 black balls. A ball is drawn at random from this bag. What is the
probability that the drawn ball will be red?

x) dR tanA=cotB, @ A + B % ¥R 7w fif (1]
If tan A = cot B, then find the value of A + B.

xii) WA 6, 11,21, 23, 14, 5 T men 7 Hif| [1]
Find the mean of distribution 6, 11, 21, 23, 14, 5.

fiit Sl |
SECTION - B
4) TR A : 10,7, 4, ..., - 32 % qd F wEw 7@ DRy [2]
Find the number of terms of AP: 10, 7, 4, ..., - 32.
§) oM 200 @A QUi @1 ARTE {ra it 2]
Find the sum of first 200 positive integers.
6) foum witwwn x? -8x-180 =0 ¥ 5= 7w Hifere (2]
Find the roots of quadratic equation x2 _gx _180=0.
7 e adeo g @ g i 2]

x=3y=7 ; x+4y=14
Solve the following pair of linear equations :

x=3y=7; x+4y=14
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10)

11)

12)

13)

14)
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3 wEaal 616 3R 32 &1 wgEW @uEd® (HCF) 7 @i

Find the highest common factor (HCF) of two numbers 616 and 32.

o foum ageg 7 g, R yraw 3w -3 § [2]

Find a quadratic polynomial, whose zeroes are ,ﬁ and -\/3.

fargatt (5, - 6) 3R (- 1, _ 4) & e T Yorave ® y-Aw B argam F frnfre @ 3,
(2]

&R
1.—4).

Find the ratio, in which y-axis divides the line segment joining the points (5, - 6) and (-

7.6 St o v YwTmvs Wi ot @ 1:2 § Rfa Ak [2]

Draw a line segment of length 7.6 cm and divide it into ratio 1:2.

) 3 )
uﬁsmA:-g ﬁ,?ﬂ tan A+ cosA Hﬂﬁmﬂﬁﬁml [2]

If sinA =§, then find the value of tan A+cosA.

forg #ifirg : (secA+tanA)(1-sinA)=cosA. [2]

Prove that : (sec A+tan A )(1-sin A)=cosA.

i Sreaa @27 S WA A i 2]

x |0 4 (8 |12 |16 |20
f |1 3 15|42 1
Find the mean of the following frequency distribution :
x |0 4 (8 [12 (16 |20

Flr 3|54 |2]1

6005 [ Turn Over




15) ﬁaﬁq&umiﬂuﬁ‘mﬁ'mtiﬁ

16) ammfn@n%ﬁquﬂum

17)

18)
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12 2)
# wafg -

il I 50-55 | 55-60 | 60-65 | 65.70 70-75 | 75-80
AR 2 8 12 24 38 16
Change the following frequency distribution 1o ‘more than’ type distribution :
Class interval 30-55 | 55-60 | 60-65 | 65.70 70-75 | 75-80
Frequency 2 8 12 24 38 16

Hm s A & e iy @ fmm 0.62 I BE dw

2]
is known that the probability of A winning the match
g the match?

i i w sy 37
Two players, A and B play a tennis match. [t
15 0.62. What is the probability of B winnin

> -
SECTION - C

o fret waem ot & 16 W=l %1 @ 728 § won wum g 8 }, ww 20 W @ WA @R (3]

If the sum of first 16 terms of an Arithmetic Progression is 728 and first term is 8, then find the 20%
term.

3 /OR
w&ﬁﬂﬁma’m%mﬂnﬁwtﬁm%—ﬁi,mmloﬁuamﬂﬁrql [3]

If the sum of first n terms of an Arithmetic Progression is 4n — n?, then find its 10* term.

Sﬁﬁgmaﬁwmg&gm&smﬁgaﬁmiﬁﬁmﬁmﬁgmﬁ&&n&ﬁwﬁ

T
gemait % I

[3]

. 2
Construct a triangle similar to an equilateral triangle of side 5 cm, with its sides equal to = of the

corresponding sides of the given triangle.
Yy /OR
5%%@%wﬁmmawﬁhﬁmﬁmﬁm%mmgﬁﬁ|

Draw a pair of tangents to a circle of radius 5 cm, which are inclined to eac
60°,

[3]

h other at an angle of




19) fag dfowy .

I3

1an 49" 1un 24 tan 60" tan 41° tan 66" - J"i

Prove that

W 49° tan 24° 1an 60” tan41% tan 66 - J’S

e ———

l+8inA

A OR

&Iﬂm: -l_j;I;l;—I = %CC A+ tan A

————

Pre b l+sinA
e that : 1-sinA

20) ﬁﬂﬂlﬁuﬂﬁgﬂﬂhﬁmmﬁnmhﬁmmmﬂﬁq:

=secA+tan A

i e 0-10 | 10-20 | 20-30 | 30-40 | 40-50
wreTm 2 5 8 4 1
Find the mean of the following grouped data using the assumed mean method :
Classinterval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 2 5 8 4 ]
FAaA/OR
P areamTn w2 @ ages A Ak
Tl IR 10-20 | 20-30 | 30-40| 40-50 | 50-60
AT 12 20 25 22 10
Find the Mode of following frequency distribution :
Classinterval | 10-20 [20-30 | 30-40 | 40-50 | 50-60
Frequency 12 20 25 22 10
‘ 6005
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g - 7
SECTION - D

2D e W el g ) s R g S - 4]
X+y=8 ; y=2x-7
Solve the following pair of linear equations by graphical method :

x+y=8 ; y=2x-7

FuAt/OR

ﬁq%mwﬂmﬁﬁmmﬁ&q: 4]
3x-2y=9 ; x=yp+2

Solve the following pair of linear equations by graphical method :

3x-2y=9 ; x=y+2

22) = Brge ABC =agn, Rvail qomd BC = 6 @ft, AB = 5 @ 3tk < ABC = 60° 2 fam o P

A v A, Rreeit o 4 ABC ) S ol 1 2 (4]

Draw a triangle ABC with sides BC = 6 cm, AB = 5 cm and £ ABC = 60° .Then construct a

3
triangle, whose sides are 2 of the corresponding sides of the triangle ABC.

3UF/OR

8 Wl =W & O g Tt 3 g R 8 Wt o Rm v
Hifig 3 I7ht g miftm)

Draw a circle of diameter 8 cm. From a point 8 cm away from its
tangents to the circle and measure their lengths.

ﬁiﬁiﬂmlﬂqﬁ’tmgwaﬁtm
[4]

centre, construct a pair of

S—09-Mathematics 6005
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23) e Re R 97 W araw 3w il - (4]

ot st | 14 | 47 | 7-10[10-13113-16 l16.19

qIoEAt 6 30 | 40 16 4 4

Find the median of the following distribution :

Class interval 14| 4.7 | 7-10| 10-13|13-16{16-19

Frequency 6 30| 40| 16 4 4

AYFT/OR

@iﬁﬁﬁﬁuﬁr&iﬁmﬁﬁmqﬁﬁtﬂzﬁﬁmmzmm et | P
Wﬁ%ﬁqﬁﬁ'{:ﬁaﬁﬂnmt 4]

g (mm) 1-9 | 11-19 |21-29 (31-39 (4149 {51-59

ot g | 6 10 12 22 17 8

wﬁﬁﬁaﬁwaﬁmﬁ&ql

The lengths of 75 leaves of a plant are measured correct to the nearest millimetres and the data
obtained are represented in the form of following table :

Length (mm) 1-9 | 11-19]21-29] 31-39[ 4149 51-59

Numbers of leaves 6 10 12 22 17 8

Find the mode of the leaves length.

I
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